
Fourier 's Method of
Separation of
Variables
-



On OEXEL

# =k%IF ft>of
ITT BCS Ufo ,-4=0

. boundary

T2 UCL , -4=0
}BfEhsbt points

-

IC ucxiol-fffcxyofxf.lv
-

we understand that next)
with xesoit
t > 0

Try to solve PDE withPI-hrovariablesfspeciaeuymxz.hn?--Az*B3BH
sigeqleuari-IE.FI



We hope to reduce PDE too two owes

involving A and B separately .
OffGit ) = AG) B' LE) A

tongue. > = A'
'

KiB 't' } tweer.uoteua.gs
.

A B'Eth A
"
Bk) Apg dating

Tt
SEPARATE THE

VARIABLES :

a_AAai¥FE¥9appahfnekkAC# there is no change

* acx7=bCyI*
in the ratios



B' A) = -XKBH) Bisuota big deal
BBBHK CoE**kt once I get a andA
-

A
"
→TAK)

A"cx7tXA = 0 We discussed

¥÷ ) Asefhtgllhisyederdg
M>°Acx7=qcos&x)tCzsiqeT
⑤"¥ .in#%aeiIn:iIE.99IT



X will come from the Bcs
Bcs are ucqt > = Alo) BG) -0

nuts⇒
h#

to

⇒ac⇒=*+¥HW
A CO)= Cz=D

C2=0

ALL)= C , L
= O ,
Lto ⇒ CFO

not a solution
c means cos

s means
sin



Casey a> o ACN -_ Cncgux) t a sgux)
⇒=/
-

a-Alo )= Gaga O)=Cs
→

O#(b) =czlsiufuhTQ.info#aEomn-mewsIitE..E
jUm=mIwithmEY
a :(II)

-with me#

Am# sin (TIX)
men



B
m
Ct I = Co e-

M¥5#t

- MIT k m immcx.ti-C.e-tathtsiufa.IT
ME IN

50,1¥SEGUEobtained

me: 5ktsin ×),
etET
ht
sin ftp.x) , . . .

B

m= I m=2


